A4 [ 14 [2043

_p-l 1
k- o=t 0=
-4
4 _ (=4 4 - (= 4 43
:j ( 3) - z ( 3.) = G — =
4 4\ 14 -2 4 _
>+ _§> 2,+( 3 ==5
A+6 7
= Z = i— - 3—.(_4:—3—
N s Ty \"s) 7[5
2
2
m%—%%-(—a—l—b)z: pera=—-2, b=-1
- A ( ( ) )2' A %
ol PR N S Y N —(=2 "'(—4) = 24+ = 4 2 -1) -
i L)
_ 4 V
:2":{“'"(2:' Z—i'l"f:f 2 =—EZ-
Z ) 2 2
S S 1,1
Eil Piy Py perx=—ey=-
{ 4
=1 i L NoN ESSTE  PEA  QVESTI VALoR|
4\° 4 1) 4
GlE | (T
L 1

=0 M 0 Mnan PUO’
ESSELE AL BEMOMINATE



a—b a+2b 2
4 -2-4

"’"% 1 -4- (’?J g RN 24+ L
-4-(-%) -4+;/(_i) _4+’é —4-4

3 O _3

= E — = T :-—E (— );‘@
-2 44 -‘-—2 T4 /Z 7 |
2z —— i
=0
Moo M

-2
?—SYlﬁaﬂ——%??

s Tk Q' b s 2 HEnarns do ot e K.

—zx°y Ez‘-a4ﬂ3x ol 5
VoY
-—40%* 5:X- X

0 5 A HowoHlo NOLlo

-



